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Time & Work

Trtooduction -

Wovk (5 defined ag Some’rplina which Ras an effect o
Cugtorn ' often the One disimed ©o¥ exRected - The Tasic Concebt
o Tme and Woik is based On e Concept OF Paspontionaliy

= TP +hene 15 Lot of Wotk, then time taken to Complrte "l'ﬁ:d’t
Wosk. Wil be more. Hence both time and Work e diveckly

Propational to eacfl  OthOL
Time taken < WOtk

. Cunattion cbhlied i Same benson is wosking

CootULAE OF CAPACTTY '~

o Wotk
Ca%:au’fkd* Tme

Jot of ‘foqnsons . Ahen time takan to Gortide

Henc® ho* af ansons S

e faken o Cﬂmﬂﬂamoa’f@

5 Tt thene e
o work widy e Jess

{m
\)nluenseﬂa Pmd?m’dona& o

N T
Time % g op Pensoh

Notei~ Genonally We dSs4me that Work 13 -hauirg
e valug! .



[

l@?ﬁr; NS
Unleash the topper in you

salved examples
Q.1 A can complele a work im 1o dagys and B can complete
the samme work im 15 daya. | they work togethenr, im how
mamyy dagps work will be completed?
A Can Com‘%ﬂe’re a b.)oﬂ-( (h = 10 days
C’a'E‘Jrcﬁl.’ = Work (’—.‘- Bﬂ —

Time

sal:

let us assume wosk bed
l E'FFluencH -—-——-— ?»ﬁ Cﬁ?zacﬂu of A doma work ih 1 daﬂ

B8 Can Comfﬂ_d'e hJoffk ih = 15 days

[ GPPibrencH = —3 Ca%acﬂ-ﬂ of 8 doina woskth 4 daa

B 10 do wWoik in One day=4 4+
Total @Elacn}j of A ¢ ofk in 4= 41:) =
[Cfi[boamta of- A+ Ca?aaclla of 8]
Lnlea
10 15
a3 3t o 2L _ 2
Jo - 296 c
FE we Know)
Cabacity = work
a% fa timy
4 - -%'jh—u > (ime=6days 3 Qeqyin?d
6 _ @
peumentg
SHRTCUT! The name of Hhe sRosteut methiod widlhe LCM
D " B M “Rubing-hand
- (SYLEM of 10,15 is 30 tofad wekis 30)
() € of A=3v/ip=3

E'FFicfethl 3
A of B = 3v/15=2

Totdwork 9% w0 ont
<
s= iclency L & of 048 togerhen s 3131
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Q. 2 Ammdoa.pima{mnkzm 8 hawra and B cam do the
dame work im 12 haurs. wn how muwch time both cam

fAmiah the whale uorking Lagethenr?
sal;
A B n48
Days- 3 12
G\‘—retenca - B n 8
Total Work - 2 NumJnQn of dags =’*—§L =4 —g— d353

Q.3 A.and B Logether cam complete a work im 20 days and a
alame cam fimish that work im 30 days. vn Aow mamny

daya B cam compute the uonrk.
A8 A B
6o
Days- 20 Jo — s 12. dgys.
QFFICl‘em:.l— 3 2 1
oRIWok- 60 8 (omplete the Wosk = 60 = godaye

.
a4 A B and ¢ can do a work im 10, 12 & IS daya
respectively. vn how /many days all of them Logether
MWMWW
sal: g8 C  A+B+C .
Q)aSio 12 1% @ —> g5 =Udays
J * ag 61'?: CHA (Arone) A
Eresengy- 6 5 oy 45 oy 29 I U Godaysdli.

5 2
Go e 3 6

Td*lm‘:-; 120 | A+B)+(B+Q)+ (CHA)=24Brc)
a.5 A and B tagether cam complete a work i/ 2%
amnd ¢ im 30 days, A amd ¢ in 40 dayae. medthz,tuma

takem by A alome Lo commplete the wuwk.
sy A48 geC  C+A (ABic) A
Pag- ™ 30 48 W=t
Boeny- § 4 3 & 7
okl wosk, grah
CPicency of (A48)+(B+0)+ (4R = 2c( 849

'lq_n
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Q.6 A Lakes 4 days mmore fo complete a work than the time
Laken by (A+B) Lo do the came work and B takes 9 days
smore tham time Ltakem by (A+B) Lo do came wwork. v howt

mmamy dagps A+e complete the uork.
let ugassume (m-(-]) Complgte in =h days

Cabacd':j Timie
Lek us assume work to-be unity Ca&am‘la

$o, A Can do Work h = (N+y) days
8 Gsn do wo'tk in = (h+q) days

(Cabacdyn ) = h e
. tabact’ra)[i *Fig
B 4 Y ‘h_+'¢| S'H)R‘_CUT”
- 2h+13 TA +8% = TA extva X TBext¥a
N +43n +36 TA+B =Time {aun by (+8)to Cormblte wotk
3 h? +111'5 h+36 = 21+ 18 TR extza = Extaa Hime by A
i T8 evtaa = Extoa timu By B

N=¢6da
33 TH'G =UX9 =36 mfﬂﬂ Gdaﬂ.g]

Q.7 A cam complele a uork im 10 dagys and B can complele
the same work im 15 days. | 8 atarts the work and A

Jauwfu'nn,a,ﬁtm 5 dage, them im how mamny dogs wild
Lhe wwork be compleled?

sad: A 8
(Da 35 10 15
E'FFI‘Cﬁenc(\] 3 2.

Towosk 3o

5 day wosk of B = 2x5
= 40
wWork of memqinina = 9p

kime taken ba Ad @ togethen to Complite = -Q-'l = olys
QemqminJ work

Wock Conthlste in = 5+u = 9 day.

sal:

3
=

3|1=» JIP
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Q.8 warking logether, A amd B can ks Shia el
daya. wagmoztk.fagzﬂlm,ém 9@&,4222/:%&11:
Zea/uea.' Y A finichea the remaimimg work im s .
them {imd the mo. of doys that & alome will toke the
camplete the wonrk.
(A+B) Can do wotk = 42 days

Cﬂ'ﬁ’mi‘}) = LI L Ponmwar]
o be 1

sal;

Time

Let us asmr:_e Work bty o
‘G;Bad‘}i T NA+G = Woskdone by (A+8) in
Q% WA +B8 +5 x HH-“TI-[G“UQ“] 1daa
Bax Lrsxhla =1 WA = Ho?!kdone‘%\n] Aln

WAB)+ B = 1, U NU'OPdﬂysBdloneCandoa@oak.—.aadady,

; = 4
%'O+HB=%1¢HB=-%‘-% '-‘)%g- :f‘i:%

Q.9 Amﬂmdceaag,oadaawmmwmm B .and therefore io
‘ablzdﬂwu.a/l.aambm 60 daya leaa than B. Workimg
ZLogether im how mamyy days they can do itz

sal: lQi’OEﬂnacf B =H

aoty Of A = 3y
Time Taken %y 8 - b to Complete Woik = 37

Time -aken '53 A -b Complete “Or&:%ﬁ
4 _ L -¢o [.', ﬂiueh]

Y% M
Z _ e 30
3H

e

Cbacity of (48) ~bs Corplete @ work = 1434 = 4 &
Time taken '%t] (A+8) 4o Com%.ﬂe’re a work = 5
pu’tﬁna M in X

Time = A%X3° = 2.5 days
uxi




[ 17

l/
@?Jh@ww A

nleash the topper in you

camncepl of Altermate naya
Q.10 A and B can camplete a work im 20 dagys and 30 days
mo. of dags im which the work will be completed if work
Lo alarted by A.

sats A B A Start the Work
Qags 20 3o A B ABAB .
Mticenyy 3 % 2+ 2+ 3424342 -
k Tn o da&S(Pch)Comﬁl:S work
JE TN ﬂ)agfs takeh '%U (A+8) to Qnihlete
Go u)ur& = %‘;-7— = QY dﬂﬂs

Q Il A and B cam complele a uork im 10 days and 20 dagd

sal: A 8 TP A sttt the work:
Qug 10 20 A B A8 B B-S47
. 7 4 2 4 2 /2 LA
Ghomey TS ok e 23,
Total Woy
-[ulaﬂda33= 6+1="tdays - 2 Work i me"“a”‘a RT3 {on ‘oot :Ld%
P BStrtd, A B A E A - 2 Work oemaing, 8's tunm.
Work Corfiete , 8 em < 3 Ty O -
work. Comtplite Th 6 days = 3xe =18y J =8 days.

Q.12 if 3 mem or 6 wommen cam do a plece of work im 16 dagyas,
im how mamyy dagys can 12 men and 8 woamen do the
ba/me piece Of LLOIK?

sal: Im = 6w
m—> 6 : )
G"—:_f’; EE‘FFIcfencH of lmen _Gj
Totad woik, = 3%6 = 6X3x14
= 289
Time taken By azumen ¢ 8 women
2%% 283

. L S = adads.
12X6+8X3 12 (6+42)
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Q. 13 24 /mem orkimg 9 Ara a day can complele a piece of
work im 3s dags. 30 mem working 8 Ara a day complete

— Mi D HI _ Mz 02 Ha
Wi W
" 1&1 2 ‘
#ngx% = M [chnce Work.in *?ml@:]
el . L%
02 = _%'

Q. 14y 100 cats cam kil 100 rata im 100 days. vn howt many
daga 10 cats cam kil 10 rata?

sal:  Ginee Pon Bage “frs ave not given , fence we sernove it
PO, o HElAlE E'.EFF‘brenoa S Cangtaht]

W W2
100x168 - exX 02 = [ =100
s 20z = [D2=100

Q. 15 For howt mamyy dags wdll 6o be sufficient
a famidy of amgw%mm 1.5%

of food per day?
* Since ouns Per daa is not giveh and QFP!U@N(‘a is Constarit

MOt _ M202

Il TS
ExDi - 22
GO 15

D1 = 5days
| O =5ys |

Q.16 14 workers smake 17 hooea im 6 dagyo. Howu mamy
workers are required Lo nmake 289 bosces im 42 days?

sal:  Sing Pen dau fowr s not {jl‘ueh
ML o M202 (g, €FFicieth 1S CDnS’tan”t]

AL w2
1}.{):"_{?- - M’Z_X‘x'z'g
7 288 11

M2 = 3u Workens |
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ALPHABET

&._EFHalait L
Thege ase 26 Naftets, in om Englsh Alphatort,

Nt Z.
Leht | | & Right
H_BCDEF&HIJHLMNOPQRSTU\JUU*V‘Z

V2345l |3 (ol |6y

BN 18 [19 |20 [21]22] 23l24] 25| 26

8IS fizit |ola Q]2 6] 5]y 321
(when Coumted ow  Z o A) '

26 125( 24 [23[22] 24 20

Pla
Value
Revesse
ovder
1 * 8 9 lo a 13
Frisk hatly ho®oeb EE G W1 K 'L Mon
(b 1] II P11 1T Jiges
N
Qeomaah> Z 4 x W VU T.1e k8 E ?5 N-m
(Yo T) "L E L ER Q
E 3- 0 T v QLM&“\’\‘OQ'{ ¢ EIOT"”

‘ertLofux’

D16 A1 ]15] 18 (21 |2y
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S whem al ‘“\L )cb"' U'D . 'cJDT ]e,‘“‘mf o¥ t I.akt ob he. 'fLa»L.‘t
\eler b W5Ked, we'l b'lMc\ “\he_ cl\'bbcfmw G’U-\\qai"{ 2 eYueme.e.
(bt,-( Lompe, Alde )

¢ extmble 3

Which 1 e ¥4 \ettes feom the lab’t aJU Ahe
o™ Jetferr Breawn  Veley heow bt W emal'w-. alphaked ?

g Lt b
v = T =  2%d \ettern

awd  \efer =0

whem 4T the Veft o dhe m%m lefforr 0% Tighet ’b
Ne At letter @ asked , wl b':'«cl the Lum erb thei~
AeWuencet ( hor two cl.!bbe."ﬁ‘-"\ce_ Hdes  HeNuner)

exomiple T which will be the 8% Jater aF dhe tight [yrom
w2h et b'iu'w\ Ja-b‘t-
ol Leht  +  Rigut
\2. + | = ?-0‘“" |2.'H’2flf = T
T wit be dhe 20% lefter prom Jgt on e englih
a\blabet.
b> which will Lo e lettes evﬁl&;t. Atbhabet , which U,
AN X H)'\' b’fmm it b’ft\‘\’n "Siﬁh’\'-
A Hese b'-‘-'c 2 dt’dhum‘i £des, we add LHNumce mg .
he “--“'Qf“)
e Rgwt o+ et
B!

\9 + = \9
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do, \a™ \eXor bl(,nfm Q\;al\‘\: bide , we Hubtvact 19 hrom 23
2} - \9 - gt

ot lej“'er( b’to'ﬂ‘\ lzb‘l‘ 61.6& lt% W
¥ _ S K
— Whowy -bo!;mgrv\ \ettory s AsKed ’Dkb'm
%\'fd\q-\- bide (7)), we Mimuy fiom 23, —=—
L\.Ke.

—
—

LR 5 9 prew deft Hide Ahon what 8 Hhe
-}908\'\1'01\'1 b'\’ofm 'ﬁl-a\'{t Lide -

Sul? 23 — 8 - 9

R b a™ pum Qut ade & Engldlh Abhaket.
Exomble - witeh w be Awe \des Enlish atbhaoct
whic B € aF gt fyow 2270 fpom sigut ?

Sa\

] Q\:ak'\ = Qt"ak‘l

AR — 6 = 16

b, 16 Ve heom gt meoms,
23- 16 = W ptom left, owd

K 0 dhe WM etter hrcom J,dl(j{.-.
Qomble 5 il Mty B Wt Rkt ofy 9% ety
hom Rt
" .
So” Quah* — Q%{
19

— o = 9
ISU’ -9 =18
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I"\‘ya‘t\()ﬂclc
— [t -y ki.nk‘l bmm ""'3"‘)“
Wb At e gy J
2’: Ahe lv-b’( b"fom Q%{, ‘} "

the Qt‘fd brom et

L 2 Whin 0  hexies ofy lefted 4ymiel é!q’!i
%

W
‘Q\;‘LE\_ *
EA0wble ¢ Study he  fpllowivg  aviamgemed eafylly

omd  Omhwex  he bﬁ\\ouw'f\sd ANuetioms °
RUPTIMO3 % T8O LKW YREELHADHEGR TN

Ol whih 6% G e LR oy 5 blom Joe Vit I AooVe

066 ofv\éqamo,&f
So Lelt - byt
\5 = G = q—“‘ b‘{})ﬂh ‘bbt
4y Ombuwee = 1

8_:2»__’5 Im A,  above Q'i"(om‘ae.mam“t; how nm”‘t] numbers
afe  Huch which aTe bve duced by Combomonit  md

M\ bﬁ\\nme,c\ ‘O‘d a lettes ?

o™ bupoet = O
—

7
953 ®

Combomamt Numboey
L 3 Asengemed ogeokdi) o Dielipnary ¢
T

A, mwame.i, we aFEwge the ety D A,

met  \ettes
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Ddess ™ which Ahy abbuar i the Emglid Alphakoct.

Fot oxomble 5 4. Choose dne ome, it Comes AT Ahe betod
blace. B(ccokd'ma o b'lé,'tlf)narsa.

A Q:q'\\m:wa 'y Q,M\(;;\ad
X Q)U«c.k:wa . %mi&hmﬂ
€. eamieqa@\a.

%b\M Q‘Lw%dmﬂ +to Emalu,lq, blétwm«s&
E:ﬂ\c,\(w\a %M\t!a\nma E,mkma E:-&'sfﬁtcc\dwa ‘M\hma
2

3, ba-'“\.'o\'\;”la % AU %ecomd Place.

# 2. How Momy Yftest, baiw, o dhe wogd PARADISE age
' Such }m]—se, which  comiam the Lowme M™o- db Jette g4
belweem Ahom as dhey have M Ahe Ewalish  Alkabet ®

MM P ARADLISE

U T (T . O T

vy

we have 2 ldfer  bavs  hete.

3. Th the hmb oy he E.M‘a\l.’a\r\ albhaboct & writhos,
M TeNewhe 00det, thin whicl, lefer Wil Le dhe W
o Fiqnt hrow B prew et

E_ﬁ«\)\ﬂ"\ﬁﬁ\.m .;
Aceoredmy o Quitiom A — MZ 5 N
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ABCDEFGHITKLM AZYXWVUTSRBPON

(o Q
Now Q ¥ \% - 2

So, 28 \etr , \» ase hoim f to ™, 'b’e.'m:imma,. Q
Hould Lo coumled b’f-ﬂ"“ 7 %o N L, whiceh, W

('%)
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salved
Q1 Y the second english Alphabet eraed them
Mmmﬁmquz#mmmw
s R\‘a\x\ - Qt'nk{

=) 20 - ‘4 = ()'“i b,.‘ o™ QLikt

SN2 S | AR TN brow left = K
U;“‘ hrom Rght = W heom Kt

Q.2 Which Letter ia im the middle hetween the $° letter jram the
ol right amd 87 Letter from the Left im the emglish Alphabet?

A —>> 7
% o left = W At oo the fight (23-9-10-R)
Se wuddle leffes - 6;‘“ =13t -
Q@3 AECB%7DS$SEBSCP?3IDESY9 @2+, | all the vawels are

the abone arramgement which of the follouwing
will be the 127 from the Left emd of the abone arramgement?

Qb‘\'m deobbma Nowels, we have
: 8
cez1®4psce ?30q 8 2%

sal:

[

Q. 4 gﬁﬁwqm englioh alphabel is reversed them which

Lo Lo the left of secomd nowel. From the right of emgliah
aAlphabet im the mew seried?
sal:

Secomd  Vowel bk_nrm he '\"\ﬂ"\ﬂ' CeNthbed
English  atpraud W E md 3t Vet 1o dhe et

,b £ W e mew bewmes o Lo
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Q.5 How /mamy palra of letter are there. vwn the word 'HoRIZON'

mwzmmmwmwmmMm

\—\r 8 9 a¢ 15—1m .
G?SM&.___ Y bans 4 letteds.

sal

Q.6 Wmmﬂwmqm{adamwézw N, O, M. P. L,
Q K. R 7

sal: s _ "
Rom P B KRG

Q.7 Y the firat amd secomd letters im the wword 'MISFORTUNE' uuene
plocth leltera amd o om, which lelter would them he the eight
sal =

9tk
New $HeNuemee = LM ES R o D@E N

A = T

Q.8 memmm@mmwmmmm
ome that carmes im the middle?

sal: A—e_.c_b'sdim‘a Yo "“\)kﬂ)o@j m{dw_)
swout » SKwkt, slaugqiter , sbealy , staght
wmiddle, wokd = S\C\l&%\d_e.'ﬁ'.

Q.9 Y NAMO = 172.amd Om = 56, 1themn SHIVAY = 7
SOI:
NAMD = M4t +13 15 = Ys 2 4 = \32

HoN = \5 4 \3% = 28x2 = %6

SHIVAY = VA + 8+ A+ 2241+ 25 = 8u x &
- so\
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Directioma(io-14): study the follouimg arramgement of muwmbenras,
Llettera amd agypmbola carefully amd amnower the gueslioms glvem
R@2TVAYSOFrUIPEBGSE3*HREW410UZ
Q.10 qump&mﬁmﬁmMzimawzmm“aymedm
their poaitions im the abave aramgement, amd 0o form a

group. Mmmmmmmmrmmmw?
JPO, E*Q, WI% 9V@, 1#0

“ I exn

WI 7% Ay b | H &
| W
-y 2 -\ = T 1:—2-'1—1—‘—1
M \#56

Q. 1l Which of the followimg ia the {ifth to the right of the 197 element
fromm the right emdr

P, V. W, 8 Q
SOI:

\a-5 = \ath o\omont b’w'\m he %\‘%"\{' end =®o

Q.12 How 2auch muvmber are these im the em
Sa!ommmc&atdy,ﬂadamdﬁyamhd?

Vs ® — 1 bav

a.:agmmqurammmm

em
WMMMM,MMMW :#;mmzzp
end?

sal: Ajter QWM‘GE'MM‘ |
0B 29 TVAYSO #20STY ez Wx>ESBOPLT
Amee  \ _ .
Q. 14 Hawt mamyl auch are there im the givem

- mqmmmmmpw@aW?

% Vowelt, = €T md L

& 15 Haw mamy meanimglul wonrds cam he formed {rom the 4, 47,
& amd & letter of the wuord 'CONTROVERSIAL'?

== ao@@\?@\: @RQ\AL
akd 4k ath Gﬂ.

N, T, 0, E > 2 wokdt Nole , ToNE
Com bo-u«muzl



